STAN'S TABLE TOP RALLY - 20th September 2007

Section 1 Car No:

Driver: Navigator:

CRO [Coloured roads only] Novices/Beginners

From TC1 at MR NE680115SSW proceed to TC2 at NNW644121%SSW via the via the following
information. [TR = Turn Right, TL = Turn Left, SO = Straight On],

TL TR TR TR SO SO SO TL TL

Start time

Finish time

Time allowed 6 minutes

Time penalties

Question No | Question Answer Marks

8
1,

1 Number of different Grid Lines 220(5;(2%6801”/2 and

[2 marks] crossed? 11 (2x @ 681110 and

665Y4110),

10 (2x @ 68544100 and

667100),

09 (x2 @686090 and

684090)

67 @ 670098,

66 @ 660118

12 @ 655%120

65 @ 650124

2
2 Number of telephones passed? 669098 and

[2 marks] 647125Y,

6 Lots missed
. 644128 ¥ the + sign

3 Number of places of religious 651% 118 % which in the
[2 marks] significance within 4/10 660v: 118 s map legend

H 668%4 116 Y4 shows as
mile of the route 669% 096 V2 church

685089
Marks Time

Total
Penalties




STAN'S TABLE TOP RALLY - 20th September 2007

Section 2 Car No:

Driver: Navigator:

CRO [Coloured roads only] Novices/Beginners

From TC2 at MR NNW644121%>SSW, proceed to TC3 at MR ESE622132%,W via the following
which are colours of all the roads when viewed from the centre of the junction, for example YYY is
a junction of a yellow road with another yellow road. The first letter denotes the colour of the road
you are on and last the colour of the road on which you leave. For example YRR is approach on
the yellow road and leave the junction travelling on a red. For this clue you always need to look a
few junctions on to make sure the route works.

ywy  YYY YYY YRR RYR RRy yYYy vyyy

Start time

Finish time

Time allowed 6 minutes

Time penalties

Question No | Question Answer Marks
7@ Many
4 H fi d Grid 630119%, 630112, missed
IOW many times do you Cross Grid | 630108y, 630107, the loop at
[2 marks] Line 63? 630104%;, 630127 and 630104
630134%.
Many
. . 1.04 miles (measured on missed
5 What is the length of ‘A road used | Anquet maps) the loop at
[2 marks] (to nearest 1/10 mile) 630
Marks Time
Total
Penalties




STAN'S TABLE TOP RALLY - 20th September 2007

Section 3 Car No:
Driver: Navigator:
CRO [Coloured roads only] Novices/Beginners

From TC3 at MR ESE622132%:W proceed to TC4 at MR SW619%160NE, via the following grid
squares only and using the longest route where possible,

6213 6113 6112 6113 6114 6115

Start time

Finish time

Time allowed 6 minutes

Time penalties

Question No | Question Answer Marks
Spots heights were 64, | Many
; s 53, 55, 74, 62 =308 missed that
62 ) Total of all spot heights passed- (note would accept 253 ﬁlues say
[ mar S] as 53 may be rc())St%?itence
considered to have not | | coqthe
been passed) loop with the
ford.
ditto
7 What is the map reference where | Ford @ 617122%
[2 marks] you would get wet feet?
ditto
8 What is the direction of approach to | West at 61572136
[2 marks] the first bridge across the River
Can?
Marks Time
Total
Penalties




STAN'S TABLE TOP RALLY - 20th September 2007

Section 4 Car No:
Driver: Navigator:
CRO [Coloured roads only] Novices/Beginners

From TC4 at MR SW619%160NE, proceed to TC5 at MR NNW646163SSE by crossing the
following grid lines in order but where possible using the longest route,

62 62 17 62 18 63 18 63 63 17 64

Start time

Finish time

Time allowed 6 minutes

Time penalties

Question No | Question Answer Marks

9 What is the map reference of the 631%2166Y2

[2 marks] nearest water tower? (within 2/10 is OK)
M_any

10 How many coloured junctions 8 Toreeai™

[2 marks] negotiated? route’ trick
hence
missed the
additional
junction at
636%4160%4

Marks Time
Total
Penalties




STAN'S TABLE TOP RALLY - 20th September 2007

Section 5 Car No:
Driver: Navigator:
CRO [Coloured roads only] Novices/Beginners

From TC5 at MR NNW646163SSE, proceed to TC6 at MR SSW687168NNE by leaving junctions
travelling in the following directions,

S ESE ENE E NNE NNE SE E ENE NNW

Time allowed: 6 minutes

Start time

Finish time

Time allowed 6 minutes

Time penalties

Question No | Question Answer Marks
5@

11 How many District line symbols 567154,

[2 marks] cross all or part of the route? 659,153,

660152, 660%2150
and 665%4155%

9 - 6416, 6415,
12 How many Grid Squares do you 6515, 6615, 6614,
[2 marks] enter or leave? (you may 6615, 6715, 6716,
enter/leave more than once so 6816
count them separately)
3
13 How many bridleways that adjoin @ 682Y4163
[2 marks] the route? @ 669%4 55
[exclude Essex Way] @ 664150
Marks Time

Total
Penalties




STAN'S TABLE TOP RALLY - 20th September 2007

Section 6 Car No:
Driver: Navigator:
WUW [Will use white roads] Novices/Beginners

From TC6 at MR SSW687168NNE, proceed to TC7 at MR S705%163NNE via the following
information that will be found printed on or touching the correct route

390 + District boundary District boundary line again ttl District boundary x 2

1 2 greendots .71 2 green dots phone green dot green dot +

5 greendots green dot + ho 2greendots 1 5 Ch 6

Start time

Finish time

Time allowed 6 minutes

Time penalties

Question No | Question Answer Marks
2
14 How many alcohol related buildings | PH @ 698173
[2 marks] within 2/10 mile of the route? Brewery @
687175%
2@
15 How many white tracks are used? | 697%180 and
[2 marks] 708157
Marks Time
Total
Penalties




STAN'S TABLE TOP RALLY - 20th September 2007

Section 7 Car No:
Driver: Navigator:
WUW [Will use white roads] Novices/Beginners

From TC7 at MR S705%163NNE, proceed to TC8 at MR WSW732165ENE via following map
reference, in order.

WSW7171703%NNW and NE7223164ESE
Start time
Finish time
Time allowed 6 minutes
Time penalties

Question No Question Answer Marks

1 =715182 (over)

16 How many times do you 2 = 728157 % (over)
[2 marks] cross the River Ter? 3 =731%157(through as is a
Ford)
8 @ No penalties
17 How many times do you 715Y4169%, 715%174Y, as assumed
[2 marks] cross contour line 50? 715%175Y, , 715Y4176, visible
713%,181% , 715%182, gg;snst%t';{fs
719 %170v , 730%160 road and
where
countour line

stopped/start
ed either side

of road
Church with spire
18 What building is onthe 5" | @ 719167%
[2 mark] coloured junction?
Marks Time
Total

Penalties




STAN'S TABLE TOP RALLY - 20th September 2007

Section 8 Car No:

Driver: Navigator:

CRO [Coloured roads only] Novices/Beqginners

From TC8 at MR SW732165NE, proceed to TC9 at MR NW766175SE via the following tulip
diagrams, approach on the dot and leave in the direction of the arrow.

o * v N
Start time
Finish time
Time allowed 6 minutes
Time penalties
Question No | Question Answer Marks
19 What is the map reference of most | 732%182%
[2 marks] Northern most junction?
ETL at
20 What feature on the map do you 743179 and
[2 marks] pass under twice? 765Y2175Y%
Marks Time
Total
Penalties




Section 9

Driver:

STAN'S TABLE TOP RALLY - 20th September 2007

Navigator:

Car No:

AR [All roads]

From TC9 at MR NNW766175SSE, proceed to TC10 at MR NNE736148%SSW via the following

spot heights only.

Novices/Beginners

N46WSW WNW57ESE N53SE NE37NW NNE52WSW
Start time
Finish time
Time allowed 6 minutes
Time penalties
Question No | Question Answer Marks
7 between Note there are two
21 What is the total of number green 774%4151 and g:;azt if?g’i/f,“fM
[2 marks] dots passed? 767%2137 you cannot
approach and
leave in right
directions, correct
SH was at
7511138
22 What is the map reference of the 764%2150
[2 marks] nearest Windmill?
2
23 How many churches with a spire @
[2 marks] within 3/10 mile of the route? 773Y2148Y4
& 768168
Marks Time
Total
Penalties




STAN'S TABLE TOP RALLY - 20th September 2007

Section 10 Car No:
Driver: Navigator:
CRO [Coloured roads only] Novices/Beginners

From TC10 at MR NE736148SW, proceed to TC11 at MR SSE718127 via the following
herringbone in the direction of the arrow. From the dot, if the first line is on the left you must not
turn left, which is either straight on or if the junction is on the right, to not turn left means you must
turn right. A line straight across is a cross road where you must not turn left or right, in other words
go straight on, if it was an upturned V on the right, this means do not turn right twice so you turn
left.

L1
171717 N

Start time

Finish time

Time allowed 6 minutes

Time penalties

Question No Question Answer Marks

/ Value

24 What feature is .55miles south east | Mast @ 751122
[2 marks] of the 7" junction?

25 How many times does the entire 8
[2 marks] routes from Tcl to Tc 11, cross GL

157
Marks Time
Total




Penalties
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